1206 COMPUTER

Repertoine of Tnstructions

JP & RJP ~
j-DESIGNATORS T

9P RIP [ UP RUP 7 Occupies 4 bit positions ond represents C” where n may be O—ISp
- S0 59 sl 5 The instruction word assumes the format
0 (No Jump)* {Uncond. Jump) 1 7 4 b y
T || Uncond_Jumpl® KEY | B _—eaps- 29 Bl7 - Ble- 9
2 Q _POS KEY 2
3 Q NEG KEY 3
R k-DESIGNATORS
5 A NOT Zero STOP & (2 bits)
€ A POS TOPE I ex—rer STReCP JP INeC",0UToCh
7 A NEG STOP 7. k 13 14 62 63 73 75 7476
i3 62 7 63 7 o "not used" ‘not_used’ "blonk" "blonk'
0-15g] C" ACTIVE IN | C" ACTIVE OUT 1 “not used” "not_used'
%60 Clears interrupt B bootstrap modes. 2 'not_used’ "not_used" u 'not_used”
3 w w w w
3% .
j-DESIGNATORS
COM A, *Q,*AQ oIV [ADD*Q ,SUB*Q |ENTeLP,RPLeLP| RPT
i 04 23 26 27 40 44 70
o (no skip) (o skip) (no skip) (no skip) _|(no mod.)[¥ of NE =Y
[l skip) SKIP SKIP SKIP ADV Yol NE=Y+l
2 |IvLess v s(@ NO Over Flow A POS EVEN pority |BACK | YofNE=Y-1
[(3 |[YMoRE } Y > (@ Over Flow A NEG ODD porily |ADDB | Yof NE=Y+BD
4 |I[YIN__ 1(Q)2 Y and ¥ >(A) Q ZERO A ZERO  |RplInc. ;Y of NE=Y[+BS] v
[5 |[YouT @< ¥ or ¥ <(A) Q NOT Zero | A NOT Zero [ADVR 'Y of NE=Y+I[+B9 /.
[ 6 J[YLESS | ¥ <(a) Q POS A POS [BACKR Yot NE-Y-1[+85]
7 |[YMORE} Y >(A) Q NEG A NEG [ADDBR |Yof NE=Y+Bb[+BE] /

/ 8% Increment if NI is RPL closs increments Y address for the store portion of the replace.
NE — Next execution

NORMAL NORMAL
i-DESIG. k-DESIGNATORS

s Rea0 | stone REELAGE |y uniidiisosin
Skip Code k || code origin | Code Dest | Code origin _Dest | 7 o0 FE UL
(no_skip) 0 |["blonk' Uy Q Q_footusedl — 1 — | ) ypper ol memory word
SKIP [ L [T MES|EE My TP T i bit extanded
0 POS 2 My | U My [ U My | My | Cpi-Complement
O NEG 3 W[ W W v [ w w M1 o aregister
[a | _a zero 4 XU | A 2 [rowed] — | — | o qregister
5 |[ A NOT Zero 5 LX | XMy | CPL [CplM | LX | XMy | My | o yoregister
3 A POS & | UX [ XMy [ CPU [ColMy[ UX | XMy | My
7 aNEc | [ 7| A [ A [cPw(coim [motused] — | —




1206 COMPUTER

Repertone of Inatructions

o Right SHift s Q + . Shift () Right by Y 54 Replace SElective ® SET. ... . SET (Al FOR (Mo =l, —» Y BA

02 Right SHitt @ A ..........Shift (A) Right by Y 55 Reploce SElective ® CP. ... .. COMPLEMENT (AlnFOR (Yl <I,—> Y BA

03 Right SHift » AQ .. . Shift (AQ) Right by Y. 56 Replace SElective  CL.. .. .. CLEAR (Al FOR (p=I, —> Y8 A
COMpore * A,#Q,®AQ. . .. . . Sense (j); (A); =(A)y 57 Replace SElective » SU. . .. .. m,.»m. FOR (Qly =1, —Y

05 Left SHift = Q.
06 Left SHift e A

+ . Shift () Left by Y 60 JumP (arithmetic) .
Shit () Left by Y 6l JumP (monual) .

Jump 10 Y it j-condition is satisfied
(see JP B RUP | ~Designators)

O7 Left SHift® AQ..........Shift (AQ) Lefrby Y 62" JumP (ifsC% hos ACTIVE ~ Jump 1o Y CT input

10 ENTere Q. e N O INput buffer) . ... .. .. bulfer active . (see 0P B RUP
" :rmz . A 63" JumP (it #C" hos ACTIVE Jump to Yif C) output | | - Designators)
12 ENTer OUTput buffer) .. ... . . buffer active

13* EXtevuul mcmnuc" 64 Return JumP (arithmetic) .. . . |Jump fo Y +| and P+i =Y i j condition is
i 65 Return JumP (manuol) sotistied (see JP B RUP | - Dtannnva-s)
5 66" TERMinate * CM INPUT. . . . . . Terminate input buffer on chonnel

3 672 TERMinote -c"~cmnuf B B i

i7n 70" Re o~ _ .. Execute NI Y times

20 70 BSKip s B ... ... ... .. .. (B)=Y, skip Nl and cleor (B)), (B %Y,
5 Advance B‘ ev\d read NI

22 72 8dumP » 87 oo B)s . (811 %0, (Bi~( and
23" (AQ)/ Y —Q.R—+A¢ jump fo oﬂﬂless Y

24 (B)+(1—> Y8 A 73" INput » €7 fwifhout monor mode) . Buffer INon €I, & <3, () (00100 +7 ),
25 B =(—> YBA K = 1,00 (00100+7)y;
26" (Q)+ Y —Q,(8);=(Alf] j interpretotion . k=0, Y amommm
o™ (@)= Y —>0.(A); = ()¢ [ reversed for ABQ 74" OUTput « Cwithout monitor mode) . Buffer OUT on Cl, K =3, (1) (00120+7) ,
30 L YsQ>A =1, 00 > (00120+7),
3l Y- A . k=0, v~ (0012047,
32 (R +(0) Y 8 A 75 INput * C" (witheMONITOR mode) . Buffer IN on C! with mon

33 (A)-(@) - Y8 A K =3,(v) =(00100+ ]},
3 Y1+ Y8 A K =1, (1), (00100+7),
35 M-@-—+v8a %0, Y —>(00100+7),
36 (V) +1 = YBA . mon mfer at 00040 +]
37_RePlacee Y=l..........()-1—>Y8A 76" 0UTput» C"(with «MONITOR model. Buffer OUT on C' with mon

40" ENTer « LP** < n - L[Y(Q]>A,=2,even pority, =3, 0dd parity =3,(1) —(00120+7);
al ADD SLP ..... « Lvi@]+ta—>A K1, (Y, (00120 +7)
42 SUBMract o LP. ... . - ) = Uy@)->a k=0, ¥ —>(00i20+ ‘\
43_COMpare  MASK. . . . © (&) ~ L[y(Q)SENSE (), (a1+L[v(a); (A);= ()¢ mon iter ot 00060+

aa" RePLoce = LIVIQ) =+ BA; =2 even parity; =3, 0dd pority

45 RePLace v uee . LIYNQ) + (A) > YBA

a6 . (A)=LIY)(Q) -+ YBA Q8% 0 Y. L

a7 - LIANQ) =Y, (A); = (A) — Remove Inferrup! Lockout 355 51 Mono/=(cades
50 . SET (Al FOR Yp=1 — Remove Inferrupt Lockout and dJumPeY .

51 COMPLEMENT (Al FOR Yq=1 — TESTCOOreCloeocevvensnnnn .

52
53

.. CLEAR (AInFOR Y =1
. Yn—>(ARFOR (Qln=!

#®0p _ Logical Product  CP—Complement  SU - Substitute  CL—Clear :}sz(ml i/ 8 K Designators (see opposite side of card) Y —The operand; Y or (¥)




